7 FEREREKERE
EHES| 18-17-25-018
BHREE  AMBEEED
BHF 8- RE AT - BARE
BE A
ZTEEH  OE
FPEES MEAE
FPHEE AABER
PEHE  AARER
BOMS  MBRHE




BEANRE

TH7EERABKERE

% [z i - BARTE B g fii ® # i
E#IEE 2,097, 432
KBIRBHE R 2,097, 432
KEHRE 2,097, 432
KEHRE 2,079, 432
B AR 256, 590
1 REERE .00 256, 590 256, 590
=
KERE 1,411, 362
2 BoK - BERIE 9.00 132, 807 1,195, 263
=]
3 LSk .00 216,099 216, 099
=
PaEin 34,200
4 SHTEHER .00 34,200 34, 200
=
& - | 184, 300
5 EHTHE .00 107, 300 107, 300
=l
6 RARHRE .00 717, 000 71, 000
=l
[ES 192, 980
T |MEBER 1.00 192, 980 192, 980
=
EERE 18, 000
[ES 18, 000
8 EBHRR 1.00 18, 000 18, 000




ISR TH7EEREABKERE
% g R - KSR Bifr 2 il & B 18

EENEE 1,904, 452
HEHE 1,870,252 x 85.8% — 9,128 1,595, 548
MEFER 1,904,452 + 1,595, 548 3, 500, 000
E R 191,070 + 1,910 192, 980
EEAGE 191,070
BEiEEE 1,910
T DR 191,070 x 53.85% ( 35% = (1 — 35%) ) 102, 891
BRI 192,980 + 102, 891 295, 871
—RERESE 295,871 x 53.85% ( 35% =~ (1 — 35%) ) — 5,197 154,129
HEREE 295,871 + 154,129 450, 000
BB E TS 3,500,000 + 450, 000 3,950, 000
HETR SR L 3,950,000 x 10.00% 395, 000
AEEBE 3,950,000 + 395,000 4,345,000




RfR- BT/ 7 —2 SHTEERASKERE

&5 1
£ B 12&Y
% 7 1 - BT Bifi #n B R & # i W =
B2 E (R
A 1.50 60, 600. 00 90, 900
B E M
A 2.00 52, 300. 00 104, 600
AR
A 1.00 41,100. 00 41,100
REMF
A 0.50 34, 900. 00 17,450
A £ Yol
% 1.00 254, 050. 00 2,540
& & YEZERES : 1.00L 256, 590. 00 256, 590
&S 2
B K - BEAE 1H4Y
% 7 R - BT Bifi #n B R & # i W =
RRE F4 b2
H 0.50 3,616.00 1,808/2.00H / 8H
FEMm FRP D 70PS#¢ 3.0t
H 0.50 86, 151. 00 43,075/8H
B E M
A 0.50 52, 300. 00 26, 150
AR
A 0.50 41,100. 00 20, 550
REMF
A 1.00 34, 900. 00 34, 900
A £HD%
% 5.00 126, 483. 00 6, 324
a & YEZH8ES - 1.00H 132, 807. 00 132, 807




RAfiR- 1L/ V7 —2 SR FERARAEEE
B85 :3
27 : BB 155y
2 318 - AR i i % @ # m %
MBS
A 4.50 41, 100. 00 184, 950
RBE S4 b2 2
=] 4.50 6, 922. 00 31,149/6.00H / 8H
a & 1E%X8ED - 1. 00K 216, 099. 00 216, 099
S 4
27 . HIHR 155y
2 318 - AR i i % @ # m %
SR
= 1.00 34, 200. 00 34, 200
a &t 1E%X8ED - 1. 00K 34, 200. 00 34, 200
B5:5
27 : B B ()
2 318 - AR i i % @ # m " =
L et
A 1.00 60, 600. 00 60, 600
RIS BER
A 0.50 52, 300. 00 26, 150
MBI
A 0.50 41, 100. 00 20, 550
a &t 1E%8E - 1.00[E 107, 300. 00 107, 300




Rifiz -/ \v7r—o

TH7EERABKERE

&S .6
£ EW|E [ (1@E)
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 0.50 60, 600. 00 30, 300
RIS HRER
A 0.50 52, 300. 00 26, 150
Bl S H A
A 0.50 41,100. 00 20, 550
& Hi 1YEZHEH - 1.00[E 71, 000. 00 717,000
&5 .1
25 MESERK 1LY
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 0. 60 66, 900. 00 40, 140
HEm (B)
A 1.40 48, 500. 00 67,900
g
A 2.30 36, 100. 00 83, 030
EHERARE FHEEDY
% 1.00 191, 070. 00 1,910
& Hi 1E%HeH - 1.00K 192, 980. 00 192, 980
5.8
2% EBHRRA 1LY
2 b g - BIRTE By = BHoO(f %8 # " =
EBHRERERE
= 1.00 18, 000. 00 18, 000
& Hi 1E%Heh - 1.00K 18, 000. 00 18, 000




